Language Awareness for Key Stage 3
Assignment 8
1. Which of these is not a subordinating conjunction?
a. because
b. for
c. though
d. when
e. while
2. If you wanted to say ‘I’m glad that Mary is here’ in French, how would you fill in the blank?
Je suis content que Marie soit ici
3. Which of these sentences includes an interrogative adverb?
a. I found out whose dog was lost
b. I know how this happened
c. I saw the house in which they lived
d. I saw the place where he'd been
e. I wasn’t there at the time when you arrived
4. Rephrase I believed that Mary had been ill using an infinitive
I believed Mary to have been ill
5. Which of these languages uses the same tenses in direct and indirect speech?
a. French
b. Greek
c. Italian
d. Japanese
e. Latin
6. Which of these is not a property that relative pronouns can have?
a. Aspect
b. Gender
c. Number
d. Person
e. Tense
7. In the sentence These are Mary’s parents, who John invited, what case is who?
a. Accusative
b. Dative
c. Genitive
d. Nominative
e. Possessive
8. Use the examples that you have seen to create a German sentence meaning ‘I saw whom Mary had just met’
Ich habe gesehen, wem Maria gerade begegnet war

Consider these two sentences:
Mary is here. John is happy
9. Combine them into a single sentence by turning the first into a participial clause
Mary being here, John is happy
10. Which of these sentences can only be true if Mary is here?
a. John didn’t believe that Mary was here
b. John doubted that Mary was here
c. John heard that Mary was here
d. John regretted that Mary was here
e. John told us that Mary was here
